W e |
Resurvey of Boundary of T. 28 N. ®. 50 E.

; ! ﬁ From the svidence found im closing against the range
R

g 50 and 51, T find it will be necessary |
to retrace the 8. bdy of T. 20 N. R. 50 F. ,also the |
E. By of T. 38 N. R. 40 E. As. the E. bdy of T. 236 N.|
: | | is only 401.70. chs. in length, it will.not ba |

necessary to reirace the . bdy of sec. 35 of T. 28N.

fore I restrace W. on the T. bdy. of T. 28 N.

from #he cor. of secs 25 and 36, 30 and 21,

The ¥.1 of the B. hdy . of ssc.25, bhears N. lo 35! W.

13! E.
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The N. % of tme Easbdys of ssc. 24, bsars N.Oo 11'F.
and is 40.80-chs in lengih.

: . mhe 8. 1 of the E.bdy of sec. 13 bears, N.Co' E.
and is 40.30 cha. in length.

The N.3 of ths ®. bdy. of =smc 13, hears N0o®' E.

z ‘ and is 40.3Q chs. in lsngth.
. The £} of the E. bdy. of sec. 12, bears NCo 4' E.

and iz 40.52 chs. inm length.

: ™he N.1 of the Tinkdr. of sec. 13, bBears N.0o7' K.
; ‘ | and is 40.62 chs. in length.
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Sw Qf the E. bdy. of sec. 1 , hears anth,
and igs 40.05 chs inrlcngth.
The N.1 of the E. bdr. of sec.l ,heas North
and is 40.00, chs. in length.
I retrace the S. bdy of T. 20 ¥. R. 50 E. with
the following result: |
i | The W} of the line et . k. secs. 31 and 6 , hears
N.890 54' ¥. and is 58.31 chs. in length.
f the line bét. secs. 31 and 6, heavs E.
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and ig 40.00 ghs. in length.




